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2. Solve- any one of the following : 1x4=4

(@) Find the cosine of é;he angle between 31 + ) + 2k

A

and 2% ==23 + k.

(b)  Find the moment of the force 37 + 4} — 5k about
the point (1, 2,.3) if the force acts at the point
(23 - 1? 4)' ' : '

3. Solve any one of the following : : = Ix7=7

(@) Find the coefficient of correlation p(x,y) when
Cov.[x, y) = — 825, _Var.() 825, Var.(y) = 8-25.

(b) A bag contains 6 black and 3 white balls. Another ...
bag contains 5 black and 4 white balls. If one ball is
-drawn from each bag, find the probability that these
two balls are of the same colour.

4. Solve any one of the_‘foliowing : - Ix7=7

(@) Find the centre and radius of the circle
3x% + 3y — 18x + 6y + 7 = 0.

(b)  Find the eccentricity and latus rectum of the ellipse
3% + 2y° = 6.

5. Solve any one of the following : - 1x4=4
(@) Find the equation of the plane passing through three
points (2, 3, 4), ('—f 3,5 1) and 4, — 1, 2).

(b) Find the centre and radius of the sphere
3x% + 3y + 322 — 2x + dy — 62 = 1.
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8. Solve any one of the following : L Ix4=4

@ oY
dx Xy + X

b k+y? Y -a?
dx

9. Solve any one of the following : - 1x10=10

(@) In a right angled spherical triangle PXY, angle
X = 92° 5 angle Y = 90° and side p = 53° 20".
Calculate angle P.

(b) In a spherical triangle PZX, sides p = 87° 10/,
z = 62° 37" and x = 100° 10’". Calculate angle P.

10. Solve any one of the following : 1x10=10
(@) In a quadrantal spherical triangle XYZ, angle
X = 73° 01, side y = 47° 47’, side x = 90°
Calculate angle Y.

() In a spherical triangle ABC, angles A = 88° 36,
B = 121° 3¢/, C = 69° 35’. Calculate side a.
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